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(A) 60° (B) 90° © 30° D) 72°
Study the graph and find the angle of sector of coffee.
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Anna walks 15 meters south, then turns right and walks another 20 meters. How far and in which direction
is she from her starting point >
(A) 26 meters north (B) 23 meters west
(C) 25 meters south-west (D) 20 meters south
3 S H ST TS 1 T |
Find the next term in the sequence.
AB, ABB, ABBB, ABBBB, ?
(A) ABBBB (B) ABB (C) ABBB (D) ABBBBB
4 Frefiafia e &, s R ez F A A s v frwedt w0 A R d | 36 @ v e A e
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e T 9193 - “FORMATION”
In the following question, four other words are provided as alteratives alongside a given word, One of
these words cannot be formed using the letters of the given word. Identify that word.
Given word : “FORMATION”
(AY TRAIN (B) MINOR (C) MAIOR (D) RATIO
5 o T H A 1X % T 9 AL B, C, D §1
wfor FRAA | @REAB | #wAC | #8w=E D
2l e § 3l aE 28 2 17 27
andanfies e 3 argei 2 14 12 8 13
anfif witer § el BT
wtm #3 6 17 9 15
afit wivan # senf o
At wianei 4 sl ae 64 55 46 76
3ol €1 Tt S A HE & R WA T ¥ R A qern w F e #, freferfea § &
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(A) @i wivar sifus Ffeoft |
(B) @ el o s T 3 saw v gern T A o |
(C)  arefafifas whia srfires e o |
(Dy 3 e 31 s T e wwE ot
A school has four sections A, B, C, D of Class IX students.
Resull Section A | Section B | Section C | Section D.
Students failed in both exams 28 2 17 27
Students failed in half-yearly but @ B g s
passed in annual exams
Students passod in halFycarty but B i ) E
failed in annual exams
Students passed in both exams 64 55 46 7
In the context of comparing the difficulty level of the two examinations based on the number of students
passing, which of the following statements is true ?
(A) Annual exams were more difficult.
(B) The two exams cannot be compared for difficulty level.
(C) Half-yearly exams were more difficult
(D) Both the exams had almost the same difficulty level
6 O AT T S I G, FN 3 FE, THR AT 1S A e B 1 A SN At & o
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() o (®) (€) srefra (D) foar
Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ?
(A) Husband (B) Brother (€) Nephew (D) Father
7 Freafoafaa w8, st faw o v e aw s e fawet F w0 Ry ¥ | 3 e A Ry
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TR : “MATHEMATICS™
In the following question, you will find four additional words provided as altematives alongside a given
word. One of these words cannot be formed using the letters of the given word. Identify that word.
Given word : “MATHEMATICS”
(A) MATE (B) THEM (C) MATH (D) MATTER
8 g AT -
AT e W
(A) ST (315) ®) T © = (D) Hiz &)
Complete the analogy
Dog : Kennel :: Lion :
(A) Shed (B) Tree (C) Den (D) Burrow
9 e p@q=p*+q+2pq pFa=p—q*—2pqd, A (T@2)#4 FAHFTE?
If p@q=p>+q°+2pq, p#q=p°—q°—2pq, what is the value of (7@ 2)#4?
(A) 6480 (B) 5897 (C) 568 (D) 493
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Find out the alternative which will replace the question mark (7).
243:23%: 621:2

a) 62 ®) 12* © 217 D) 61
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Analysing the figure, find how many red objects are not plastic.

qA—

Plastic ——>

«—— Balls
2 fe\ 4
FANT)
Red—> | ¥ 9 8
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Which of the following diagrams best indicates the relation between India, Haryana and World ?

HOLHeE OIS

i o o 3 8 ke 1, P ad i S 6 ko o e, R o @l iR geE 4 km eft | S H, 98 A
ard SRS, 18 km Teft S S gl | STRfrs firg 3 e e o o o # e €2

) g (®) 37 © (D) FFT

Scema ran § km towards cast, then furned left and started walking 6 km, then she turned right and walked

for 4 km. Finally, she took a right and walked for 18 km and reached her home. In which direction is her

home located with respect to the starting point ?

(A) South-East (B) North (©) East (D) North-East

u fafyd #ie ur 8, aft w6 PARTNER” &1 “0ZQSMDQ™ & &1 & #ifea fofar ot 2, df 3eft wmn & B
ez “SEGMENT* ¥ fere vz = & 9

Ina certain code language, if the word ““PARTNER is coded as ““OZQSMDQ", then what is the code

for the word ““SEGMENT"” in that language ?

(A) QWSARTH (B) RDFLDMS

(C) SERBCPT (D) TFHNFOU

i Fre i w9 e s Pt s # wie A, e e, oo Framard, oo, o e g, C
e RS AR
Simplify the following expression using the given code language, where 4" represents ‘x”, < represents
=, " represents *+" and “+" represents *+*
16x4+4+14-2
@) 35 ® 28 © 40 o 76

(A) TR (B) iE (©) () af
Find the related word

Prime : Composite - Odd - 7
(A) Positive (B) Integer (C) Even (D) Rational

“jerelT ¥ o w2 e | D
Find the missing term in the series.

ASBC, A4CE, A3DG, __, AIFK
(A) A2EG (B) AZFI (C) A2EF (D) A2EI

AR 4, 2 W w0 F oG B, 0, o0 F g & I o, 0w oamiar A B
30+ 10+ 6-5x 6 FAAFZ?

If 4+ represents %", ‘=" represents ‘", ‘=’ represents *x’, and <’ represents +*, then what is the value of
304105 6-5x
*) -10 ® -21 © 12 (D) -14

1 77 ojrEren H N HE T Ff | D
Find the missing number in the given series.
11,15, 24, 40, 65,7

(A) 100 (B) 90 (C) 95 (D) 101

T B T IR R 15 - 19 36 ST 5 el & ST S e A 8 3 : 4 3 S S o | A
Find the number that must be subtracted from the terms of the ratio 15 : 19 to make it equal to 3 : 4.

(A) 3 (B) 5 © 2 (D) 4

e 21 ST e 1 3 & 125% e § | 4 eftar =6 s e ) s & e st wm e o B

Mita’s income is 125% more than that of Sita. What percent is Sita’s income less than that of Mita ?

(8) 124% B) 5555% (©) 25% ® 23 %

w1 il ferror o & 1 st & weww aaTads (HCF) 9 e s &, i siftr o 2 g @ s ¢
it T TRt & aifm 7 e 2, 4 312 99 ¥ | T F w1 9 e |

When we calculate the HCF of two numbers by long division method, the last divisor is 2 and the
successive quotients from first to last are 2, 4 and 2 respectively. Find these two numbers.

(A) 16,20 ®) 12,16 () 18,40 (D) 20,24

2yt frwita fam & 20 Fesfirder 3ite 25 Freferer 1 nfe & =1 0 & | & fa et Yo efvh o A B
el & e s el 1 6 ek a s B | G afe e el ) e g i |

(A) 1007, (B) 907 (©) g5, (D) 11073,

Two trains are moving in the opposite directions at 29 km/hr and 25 kmvhr. The faster train crosses a man

inthe slower train in 6 seconds. Find the length of the faster train.

(A) 100m (B) 9%m (©) &m (D) 110m

e Foet 1 64 et et v s Fferm e o | et 654l it , v et i P Frt w6 e A
B | $ TEET S 2 T €A | 3 R s g

A cricketer had a certain average of runs for his 64 innings. In his 65™ inning, he is bowled out for no

score on his part. This brings down his average by 2 runs. Then what is his new average of runs ?

Ay 128 ®) 168 (© 130 @) 170
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A am Tt e At wef) # 10% 20 E 4,840 8 9 aTelt e v Enft o

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

(A) T4500 (B) 71500 (C) 74,000 (D) T3.400

53,240 Fr0fin 3 ad & 10% ol s (@t e o s R el & 1 d e o w2

A sum of % 53,240 is accumulated in 3 years at 10% compound interest (compounded annually). What is
the original amount ?

(A) %40,000 (B) £30,000 (©) 20,000 (D) %60,000

F U Al A st i @) s & o s i £ 7 8 AR gl i aen s af 6
AT 11 TR, et o 1 s miv s @ ) R 2 0

The average monthly income (in ) of certain agricultural workers is S and that of other workers is T. If the
number of agricultural workers is 11 times that of other workers, then the average monthly income (in )
of al the workers is :

S+T 1 ST

1ILS+T
B —+T (©) M@ —F

@ 2 1s 12 12

e AT A IafteEn | 75% w3 v va 2w, R & 20, 7 s v | s gefieEn #9261
e forert & S ot e el o1 75% & | Y iR o 1 et wre T i |

There were two candidates in an election. 75% of voters cast their votes, out of which 2% of the votes
were found invalid. A eandidate got 9261 votes which were 75% of total valid votes. Find the total number
of voters enrolled.

(A) 16,800 (B) 26,600 (C) 11,600 (D) 16,505

250 31, 1 0 & s yfereerlt am e = R e S & | s e der F e R, @ = s e @
& 1 afe dw it 16 Frsfverer & i feraest 1 f 20 frsfeer 81, dr e ¥ vRd o & ved 7 frl
T TR 2

(A) 850 ¥ (B) 950, (C) 1000 # (D) 700 %,

A thicf is spotted by a policeman from 250 m. When the policeman starts chasing, the thief also starts
running. If the speed of the thief be 16 km/hr and that of the policeman be 20 km/hr, how far would the
thief have run before he is caught ?

(A) $50m (B) 950m (©) 1000 m (D) 700m

X 3l Y U ER w12 fE o 18 i w9 e e s g e A 4 e
Fame Y o B e X ¥ 3 I e g o | it e for feelt A g g 2

28
(A) 18F= (B) %ﬁ: (©) 10f= (D) Tﬁ:
X and Y can complete a work in 12 days and 18 days respectively. They started doing the work together
but afier 4 days Y had to leave and X alone completed the remaining work. In how many days was the
whole work completed ? 15

2!
(A) 18 days ®) 3 days (C) 10days (D) TX days

o ST 40 R v o a3 e R ot # it 25 i 1 Freifor e &1 24 A e,
e & o et o forerd we € et B | R e seifien et 1 Frpe e =nfe 71 = 4 R vt
o A e

(A) 60T (B) 707 (©) 10077 (D) 5T

A contractor undertakes to make a tunnel in 40 days and employs 25 men. After 24 days, he finds that only
one-third of the road is made. How many extra men should he employ so that he is able to complete the
work 4 days earlier ?

(&) 60 men (B) 70men (C) 100 men (D) 75 men

e SR 3 e e B 20% = B T | A e T T 1,200 31 5 o wr, 6 8 5% i ar g | e
RECEGERIER]

A man sold an article at a loss of 20%. If he could sell it for ¥ 1,200 more, he would make a profit of 5%.
What s the cost price of the article ?

(A) %4300 (B) 7,800 (©) £4,700 (D) 4,850

O T ¥ SR T, U e £ 5,125 4 e it 3 s e i ww $2 el 2 | 36 9 A 25 F
T S5z 1 20% F1 e e e | 2 e A SR e e oA R, 9w S
e o o 2

Ata village trade fair, a man buys a horse and a camel for a total amount of % 5,125. He sold the horse ata
profit of 25% and the camel at a loss of 20%. If he had sold both the animals at the same price, then the
cost price of the cheaper animal was

(A) T8500 (B) ¥2,000 (C) 6,900 (D) ¥2,500

22535 % 53, 24 x 3% x 5 = WEwW WA (HCF) 31 fifm |
Find the HCF of 2 x 3° x §°, 2*x 3% 5.
(A) 22x3%x7 B) 22x32x9 (©) 22x3%xs (D) 2?x32x8

90, 128, 144 1 TaH FHTCA (LCM) 1 H1fsre |
Find the LCM of 90, 128, 144.
(A)y 5760 (B) 5764 (C) 5758 (D) 5762

2 safeet Fe-afeuat s & Al 3T 8 U A0 A A T 65% i % w0 1 fireran & wwtE
T N I A F 80% 1 5 w0 H frerar 3 1 7 weet A g o 1, g A F oqd @ w0
SR

The total emoluments of two persons are the same, but one gets allowances to the extent of 65% of his
basic pay and the other gets allowances to the extent of 0% of his basic pay. The ratio of the basic pay of
the former to the basic pay of the latter is :

(A) 5:4 ® 12:11 (©) 16:13 D) 7:5

T ST ST T T 20% g 30 | T 30t ot T W 4% F A T @ 1 2 e o e W
T &, it ey % e ifsr |

A trader allows a discount of 20% on the marked price. He still has a profit of 44% on the cost price. Find
the profit % if he sells at the marked price.

A 6% (B) 49% (©) 90% (D) 80%

O TR U ] 1 g Fade 5 20% ge e aa &, Afi feeftett s S ¥ o e @z @)
T T 10% Y[ ST | G st 38 % 4,002 st e 2, Forwt 259 1 A sifefa #an @1 =mndt
e a1 o o e i e a2

A trader sells one item to a retailer at a 20% discount, but charges 10% on the discounted price, for
delivery and packaging. The retailer sells it for % 4,092 more, thereby carning a profit of 25%. At what
price had the trader marked the item ?

(&) 719,000 (B) %18,600 (©) 719,400 (D) %18,000

Frefefiaa # & fam (@rsire) i g |
Pick out the odd one from the following.
3,5,7,9,11,13,17,19
(A) 17 B) 9 ©) 3 (D) 19
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kcg gﬁaqzum«mz%wmaﬁm%mmwmwa Elciecal
& Al |
A figure is given. You have to identify which among the following picces is nof required to make this
figure.

@ ST / Given figure

[]
) U ® V © Kl ®) E

si@er § swrelt e i 5 A |

Find the next figure in the series.

?
sfen 1 9 R (3sire) 1 A
Find the odd one out in the series.
B4, D16, F38, Ho4, 1100
(A) B4 (B) He4 (©) F38 (D) D16

gt gt 1 e e i |

Find the number of triangles in the figure.

(A) 18 (B) 16 © 12 (D) 14
T e et # & e (i) 1 3 i)

(A) s (B) Frewdrs (C) =it (D) Fhr
Find the odd one out from the given alternatives.

(A) Pizza (B) Milkshake (C) Burger (D) Cookies
Freferfiaa & & fre 1 90|

Select the odd one out from the following.

A) 17 (B) 23 €) 63 (D) 11
o 1 ma ifore |

Find the odd one out

< ard sjren & X 71 Hf |
Find X from the given series.
64, 57,50, X, 36, ..
(A) 44 (B) 42 ©) 43 (D) 48

e i SFTeft e s Ff |
Find the next number in the series.
280, 275, 268, 245, ...
(A) 220 (B) 205 (©) 210 (D) 215

TR0 800 H U Arghne i s fr e 920 8 s form | e e e w2
Arun bought a eycle for 800 and then sold it for ¥ 920. What is his profit percentage ?
(A) 20 ®) 10 ©) 15 (D) 30

AN AN

et forw u Feraredl 5 & e o 8 el ST e it |

Find the next figure in the above series from the options given below.

AW PN L

I i m v v

(A) It ®B) IV ©) v (D) 11

T G () U PRI e (STEH) 1 30 @ 8 siede e @ i wfieda (dzetaem) o werg
Pt (eFeteren gamen) s & 1 o e e (v e e E

A plane intersects a regular tetrahedron in such a way that the intersection forms an equilateral triangle.
How many such planes can do this ?

) 2 ®) 4 © 1 (@) 3

e i 36 # |, 2 3 v i | e, 2 3 i @ e T et i 7 1 o, wt stz
Fofa | wwdad S da 2

(A @it (B) W © W (D) fe

Four friends are sitting in a row. Sam is to the right of Tom. Amy is to the left of Tom but not next to him.
Rick is between Amy and Tom. Who is sitting at the far right ?

(Ay Amv (B) Tom (€) Sam (D) Rick

aft ABC #1#78 ZYX B, I DEF R e 71 2 7
If the code for ABC is ZYX, what is the code for DEF ?

(A) VWU (B) VUT (©) WVU (D) UVW
FEHH e 7 i i |

Find the dissimilar pair of numbers.

o D2 5 42 28 5 21
@ 5§ ® 7.3 © 316 ® 5.3
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o T I R w g e ¥, e i R g g R R e e s s @ e
SR s 7

(A) T B) T (C) =F (D) fomm

Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.” How is Vinod related to
the girl 7

(A) Cousin (B) Grandfather (C) Uncle (D) Father

i o e et s e s s P e s i i a8 s P et
s e g

Study the following positions of a dice and determing how many dots are there on the dice face opposite
the one with three dot:

'S o e o

O AT U AT ST ST A g S A e, 3w 5 gt o 06 & 1 S 3w v &
o s eifer 32

(A) & [ (©) ueht (D) s

Pointing to a man in a photograph, Asha said “His mother’s only daughter is my mother.” How is Asha
related to that man ?

(A) Sister (B) Nephew (C) Wife (D) Niece
G H zaf i
(A) WA B) g (©) % (D) g

Frerfeafiera § & wertareh wge 1 A g A 20
() wg-aRE  (B) F9 Tt (C) Wi —amfis (D) TR - T

g e it for dfeeit i farerft wmmd @it &

A) 13 (B) 22 ©) 12 ) 11
<aje o P e 20

(A) wftwsrg (B) g et (C) Ttz wmf (D) F=RATT AT

Formre o e o vt 4 4 e e arqfea 20
(A) St i g (B) & w fprem (©) FHam (D) =z g

Tt g it < e i 2

(A) 51 (B) 33 (©) 50 (D) 52
i IS A A R 2
(A) 3 (B) & (© 7o (D) amg
odre P wTE a0 e 8
(A) werfvEwETE () fapwmm (C) Zmawm (D) e T

LTI 3 FF: e 7 e e AT e #
(A) TEAITEIE  (B) TERISNEE  (C) TR (D) SHECE-IT

3 I G

(A) smfeE (B) 31T (€) s (D) 3
e § FA-E R & 0

(A) = ®) fart (© @ (D) =
wet el e ez A AE 2

(A) FA-Fd = d9-Haw (B) YH—® = SO el AT

(C) - HTER = T - 371k (D) ol st = yE—w

“sifir 1 wTaTe Tea & ¢

(&) g (B) ¥ (©) fw (D) =gy
Foeferfiaa & & a1 w0 6f 1 SamEr 22

(A) (B) WA (C) == (D) FHERR
Freferfier # & v aww 1w i -

(A) TR 1 fren e ke 2t |
(C) it it foem e sgen g |

(B) wireiferait =61 frer e wd g |
(D) Aot 1 e e sk €6 |

Freferfiaa arrii 5 & form arer § s @ 2 7

(A) Hifed wpa T gE R
(€) o feedtaem

(B) & wear & § o = |
(D) Frer g #i |
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Freferfiaa awi § & aqeartas sem R am i 20
(A) it it o v 1 (B) &l & 2 T, e |

() fafEmigme (D) Hea S At
e[l § O 2 A T F A e e 3

(A) segerft (B) =YoT (C) Tomearft (D) Fm
sftag 1 e = Em 2

(a) g (B) afgm (©) rfe (D) gt
S B anfisiw d A FE €

() st adEa (B) wiE" () = T (D) wha T

it Fh ¥ fou wiferera e e yew frd femmm e o
(A) i frg (B) Tfrermy st () g va (D) FARAT

Frerfefiea & - e awedt Rndw 22
(A) ¥ - T (B) wfiF - T () wafa— e (D) =nfz— s

e § R
(a) =g (B) degey () (D) &

T W52 il T ET vee e hife
A) FE (B) W= (€) (D) for

watfiee forame e safer e oft 7 o AT o6 v R e e Al e e w2

W) TFEFAA T (B) e e e

(C)  Zfere @it e v fieft = o (D) A 1 qEl

el 1 FereaifeT § #9-0  E d

(A) A& (B) 9T (C) dwE™ (D) FH0TE
gz 7 i area &

(a) [ (©) == (D)
& ferw o s T Fam 2 0

(A) @EH (B) MEH (©) = (D) o=y
Fretferfia 7 & #-a wre e 2 2

(A) =ET (B) =M (€) =n (D) ¥
S H -G R

(A) e (B) T (C) ey (D) =Fdum

Freferfiaa 3 & et w1 = fife -

(A) At Faret St g = A
(C) 7 & v Fed 8o A e A |

(B) A A 5 T B A AR |
(D) =T T g v A

G AT T 3 ferw S w8 o e e e g o
(A) T TSI Fore st g (B) ¥ QO
(C) =8 aHH (D) FoEdT g

o &, 90F 94 Tt A

e ¥ St ey i Ep A €, gufon st 1 s e e | s qe wn e A, s S
S T S B, g g e & e | e oft v foed €, et g A 98 S S A o e | e
SRR i S ATl 8 AT F e G, W 6 Hels H FATans q, 936 a1 A e s B e
VAT 8 T T A T A 2, 1 e s Frofer o e 1 ggaryd e veen e | i gey i afy
e et et &, e o et S 3 € | A<l g v & e e i g a5 A 2 e T e o
ST & | 3T SATET 1 gl ST T | FERT, T SN STRASH F8 A €1 | S ST # F et el A AR
SR Tl T, 7 T A A T 2 A | ST g A vt |

Freaferfiaa # & forer arez 1 37 wwer 2

[EVI <4 (B) FaF (© FfFm (D) FE=
TR T 1 3ferd e 20
(A) EHEI T (B) HT0 e (C) STt (D) et T

B A9 ST o el o 1 SR ARt o w2
(A) Tarvamaams foe =1 wem o |

(B) afEHW i FeTE F FagarTE T |

(C) =19+ T 3 ot i wadsan i1 e e |
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SRR i e :
(A) TR 30N Fearem A 2 | (B) WA &H B == ¥ |
(C) TR (D) T =i o T &

Freafefiaa @ & - fraer gfw @ 2

(A) 3 STIE 1 qgel SHTT T |

(B)  For o o gfer et vt 2, e few ft s 7 € |
(C)  fter 2 et T 1 T e B |

(D) W T =TI 2AT AT |

afew, Xy Fuid awz XwufE dzFRmw e

(A) =i (B) = () =™ (D) @&
If W is the mother of X and Y, and Z is the husband of X, then what is W to Z ?

(A) Mother (B) Uncle (C) Mother-in-law (D) Sister
I 72 4 e |

Find the dissimilar term.
P49, T4, 764, K.

(A K9 (B) Zo4 (C) P49 (D) T4
g A

SRS : AT 22 2 < T
(A) g (B) dferm (©) wwEEeA (D) Fr e

Complete the analogy :
Oxygen : Burn =: ? : Extinguish
(A) Nitrogen (B) Helium (C) Hydrogen (D) Carbon dioxide

e, firm & i & e g foreeft erveft 7€ 2 1 G, v & vl 1 & i ool S o o R IR
e A 2 2

(A) Afmr (B) wmft (€) frm (D) T

Namita s taller than Priya but not as tall as Madhuri. Reena is not taller than Namita but is not the shortest.
Who among them is the third tallest ?

(A) Namita (B) Madhuri (©) Priya (D) Reema

a1 7 Sl gt 1 R (3ee) we H fored & 91 e @ o3 s wart 1361 SE - g
Which is the 13™ letter to the left of the 6% letter from the right when you write the English alphabets in
backward order ?

(&) H ®) I © T O S

e e e . e e vl & it oy s feveran & st i ant i fareedtamror faver v e

2014

2013
202

0 10 20 30 a0 50 60 70
=i = T
T B # 3 Wi S e et 2014 & fregevaron forem e on, 1w D 3 wid o s w7 P fera 2 st
2012 % fregefraaon farem e o 2
(A) 3333% (B) 65% (©) 40% (D) 80%

The given graph shows the number of villages in four different states where electrification was done in
different years.

State A
7 T
State B 2014
(U
State C
7777777
State D I —

0 10 20 30 40 50 60 70

Number of villages
The number of villages in State B where electrification was done in 2014 is what percentage of the number
of villages in State D where electrification was done in 2012 7
(&) 3333% ®) 65% (©) 40% (D) 80%

af2 Fell w1 1 5 AT 1 T TR, A 36 T 1 20 7@ F i B A F - R s o

(A) TEET (B) Em (C) wrEm (D) FFam
If Thursday will fall on 5™ of'a month, then which day will fall three days after the 20™ of that month 7
(A) Tuesday (B) Sunday (C) Monday (D) Wednesday

FE el X, Y, 2, S, P #HITQ, U g e % ari S 4 & | 59wt 1 e qn wwm H AR P Y
it s % afta o e 3, cifr e A FE R AR 1 P o Q whgE s i § 1 Z, § % ad o p
RipFaiFHL?

Six girls. X, Y, Z, S, P and Q are sitting around a circular table. All of them are facing toward the centre
of the circle. P is not sitting between Y and S, but someone else from the group is sitting there. P and Q
are opposite to cach other. Z is to the left of S and right of P. Who is left of P ?

Ay ®) s © X D) z

SFFH 1,2, 6,24, 120 8 el Gen a2
In the sequence 1, 2, 6, 24, 120, what is the next number ?
(A) 480 ®) 720 (©) 360 (D) 650

af %1 waft qd & afzm £ 3w ggar d, A1 aw e e d sz 2

) (B) (© @t (D) e
If a bird flies from East to West, what direction is it flying in ?

(A) Eastemn (B) Southem (C) Northemn (D) Westem
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afe 987 #1123, 741 1 369 % &9 # ifea frm o 2, 1 269 1 e wepm hifiea i s 2

[£987 is coded as 123, 741 as 369, then 269 will be coded as -
(A) 840 (B) 841 (C) 367 (D) 356

q@eT 2, 5, 10,17, F @ AR
Complete the series 2, 5, 10,17, .
(A) 28 (B) 26 (C)y 24 (D) 32

AT 6, 24, 60, 120, F 3preft e 7 Af |
Find the next number in the series 6, 24, 60, 120, .
(A) 216 ®) 210 (©) 236 (D) 218

27 TG 7 A x FEGRH F o e F o @ AR A 35% A x A2 )

The cost price of 27 articles is the same as the selling price of x articles. If the profit is 35%, then the value
ofxis:

@) 24 (B) 20 © 22 (D) 18

o Tt 3w A 3 1S Rt s 3, o o o s g @ i 15 falt o gl o e & sk ad i gar
¥ 1 Rt @ 15 fet & e o ard SR g Sl iaed a wge R 15 Pl A ot o e & 1w s
e i & e g 3fie v feam 20

(A) 3042 Frft s (B) 30+/2 Feft afur-afam

(©) 30+/2 Foreft Teufem (D) 30~/2 foreft afton.gf

A man went 15 km towards North, then turned East and covered 15 km and turned to the left. Again after

15 km he turned to the right and covered 15 km to reach the destination. How far and in which direction is
he from his starting point ?

(A) 30+/2 km North-East
(€)  30+/Z km North-West

(B) 30~/2 km South-West
(D) 30+/2 km South-East

aft O o 15 e 3 et @, i 90 Reyarer it & amn et are 36 29 %1 600 He de ge
T T H R g e

(A) 42 FFwE (B) 39 &g (©) 358 (D) 37 &g

If a train crosses a pole in 15 seconds, how long will it take for the train, travelling at a speed of 90 knv/hr,
0 cross a bridge that is 600 meters long ?

(A) 42 seconds (B) 39 seconds (©) 35 seconds (D) 37 seconds

S, VETERR | P, S 3T @, ST, MA R} | v, R AR

P, v & fopm v e 2

(A) Far ®) T (©) wg (D)

§ is the brother-in-law of V. P is the father of § and T, who is the father of M. V is the daughter-in-law
of R.

How is P related to V
(A) Father (B) Son (C) Father-in-law (D) Brother

1L xoyw e X, Y Rawd

2. XYFEAN YFHE

3. xsymedx vy

4 XSy adAX yHuchd

Frferfiaa & & freram sl e K Hf A gy

1. X2Y means X is the sister of Y

2. X3Y means X is the son of Y

3. X8Y means X is the husband of Y

4. X5Y means X is the wife of Y

‘Which of the following means that K is the mother-in-law of H ?
(A) H2ISJ3KS8L (B) H8I2J3K5L (C) H3ISI3KS8L (D) HSI3J8L2K

W ST wE st w5 e 2

(A) 28 fad=w, 1993 (B) 10 39, 1993
(C) 109TE, 1993 (D) 12 e, 1993
The Protection of Human Rights Act came into force on :
(A) 28" September, 1993 (B) 10" October, 1993
(© 10" July, 1993 (D) 12 September, 1993
T § 9o Syl #1 WrE W TEE o T G |
(A) o8 ARa ®) Hmmwmae () fghwm (D) feforea i

‘The cashless economy in India has been amplified with the Indian Government's initiative of
(A) SwachhBharat  (B) Banking sector crisis (C) Demonetization (D) Digital India

o STl T g 1 <A e A o 2

(A) e (B) R (C) = wfemr (D) wFEfa
Which ancient Indian text is known as the *Science of Ayurveda® ?
(A) Anthashastra (B) Mahabharata (C) Charaka Samhita (D) Manusmriti

oy T3t = afeiedn wiife o 3 w0 A o 2

(A) 21 f=r (B) 119@E (©) 193" (D) 1471
Which day is recognized as Intemational Day of Peace ?

(A) 21 September  (B) 11 July (€) 19 August (D) 14t November
T 1 et e s s e o 0

(A) wifen i (®) = (©) sRaih (D) wif AT
Who was the first female Prime Minister of India ?

(A) SoniaGandhi  (B) Mayawati (C) Indira Gandhi (D) Sarojini Naidu

syreeer wifeverr 3 form srpede & damr ot e 5 S 20

(A) 3= 250 (B) 7= 246 (€) 3= 243 (D) =3 245
‘Which Article of the Indian Ct¢ ion provides for the i of ?
(A) Article 250 (B) Article 246 (C) Article 243 (D) Article 245

o o i Forgar wivem forse Farares 3 w6 v smam & 2

(A) 25T (B) 195l (©) 16 3@ (D) 239r
Which day is celebrated as World Meteorological Day ?
(A) 25 March (B) 19" January (€) 16 April (D) 23" March

Fretferfier & 4 -5 e & g =g we 5 IeEE &)

(A) e i wfEemsR Fisiitea e (B) T Sfimren e witemeed ffies

(C) =niniza frviv fafiee (D) T w2 e de Himew fafieg
Which of the following is the largest fertiliser producer in India ?

(A) Indian Farmers Fertiliser Cooperative Limited (B) Rashtriya Chemicals and Fertilisers Ltd.
(C) Coromandel International Ltd. (D) Gujarat State Fertilisers and Chemicals Lid.
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BT et R e e e v o 2
In which year was the Cyber Surakshit Bharat Initiative launched ?
Ay 2017 (B) 2016 (©) 2015 (D) 2018

G20 it <G e 3 2 2

" T (B) v (© ¥ ) T
‘What does the letter “G” stand for in G20 Nations ?
(A) Good (B) General (C) Great (D) Group

RST80T Al e T E

(A) SRR (B) e gt (C) Tty (D) firerfa
Fieldwork-based research is classified as :
(A) Experimental (B) Biographical (C) Empirical (D) Historical

o Trerafis 2. steget e A1 9, AR, (T Ao Haia w

(A)  TTEdt-mrir EEr e

(B)  wrett wd niretor &6 o fere we e

(C) B2r et & Ferser 3 fow o wiieer

(D) Tftor it H et gferemd aversa T

The PURA scheme by the former President Dr. Abdul Kalam refers to :
(A) Providing Urban-Rural Alignment

(B) A Plan for Urban and Rural Areas

(C) A model for the growth of the metro cities

(D) Providing Urban Amenities in Rural Areas

g i e e e 3 fore Feamferdar i wrerra wam w0 ¥ fore - e farram 8 2

Which organization is responsible for providing guidelines and assistance for disaster risk reduction
worldwide ?

(A) WHO (B) UNESCO (©) WTO (D) UNDRR

T T S ST YR R ot #

(A) T el (B) fed geTEa (C) Forearer aeht (D) ifeT opy

‘Who authored the book, “An Era of Darkness™ ?

(A) Asaf Ali (B) PanditSunderlal  (C) Christopher Bayly (D) Shashi Tharoor

sfreres fra @ 2

(A) T S e SR i e w2

(B) o il erggier Siedi £

(C) i st avaes Tt seafsfa st samfia we &
(D) et affedtor Stedl &

What is Greenhouse gas ?

(A) Gas that absorbs carbon dioxide

(B) Gas that releases hydrogen

(C) Gas that emits and absorbs infrared radiation
(D) Gas that releases oxygen

el wsfteper Ffil a6t 4t wee Hen 2
The identification number given to every registered supplier is :
(A) HSN (B) GSTIN (€) GST (D) IGST

AT 1 Hard TS I U BT Y

(A) wEwT (B) gfeamm (C) TR (D) T
‘Which State is the largest producer of bajra ?

(A) Maharashtra (B) Haryana (C) Rajasthan (D) Gujarat
ity e forege e ww we o f et i fora 2 0

(A) Feramet (B) TuH (©) TR (D) wEr
The Narora Atomic Power Station is located in which district of Uttar Pradesh ?

(A) Bulandshahar  (B) Hathras (C) Hamirpur (D) Hardoi
e fimen 1 st qE A E 2

(A) Few (B) diewffn (©) (D)
What is the official currency of the United Kingdom ?

(A) Dollar (B) Pound Sterling (C) Yen (D) Euro

izt foreaor T ® 8 AT Sl Fretam degg 3 Frferfiae w8 & e e o

(A) Tl stz (B) ferfeer Frefram (C) = Frpram (D) Tfe sremm

The distribution of mangroves is mainly found in which of the following parts of the Andaman and
Nicobar group of islands

(A) North Andaman  (B) Little Nicobar (C) Car Nicobar (D) Little Andaman

e T e e o e

(A) ST BT e s R (B) WfeFfih M- g 3

(C) 35 e 1 fferrfira (D) ST ife iR g e T

What is the role of the United Nations Security Council ?

(A) Tooversce international humanitarianaid ~ (B) To promote cultural exchange

(C) Toregulate global trade (D) To maintain international peace and security

NOAA T Hera & :

(A) T HTA A A (A ST e i)

(B) T wnd S argiee deate (e s e vz e vz
(C) T mdh i arprsed T He (e SR Ue wHk e i)
(D) el WP & T T sFrrfera (Feret it B aarde UiRfEeem)

NOAA stands for :

(A) No Organization At All

(B) National Oceanic and Atmospheric Administration

(C) National Oceanic and Atmospheric Association

(D) National Office for Arts Accreditation
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F-ET T T T 1 9 S &2 D --Select--
(A) e (B) W= simer (C) dfierTg (D) &H

Which Indian State is the leading producer of tea ?

(A) Kerala (B) West Bengal (€) Tamil Nadu (D) Assam

o e e i it e e 3 fer o 3 e fldre 2023 & Fard s e e en 2 D ~-Select--
(A) fremamem (B) favamrm s (©) B dgeE (D) e fife

Who was nominated as the Ambassador for ‘War Against Waste’ in Jammu and Kashmir in
September 2023 7
(A) VidyaBalan (B) Vishwanathan Anand (C) Sachin Tendulkar (D) Captain Bana Singh
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(A) Feifirs dwemm (B) DNA yfafea (C) %ol 3eared (D) S gEem

What is the main function of ribosome in a cell ?

(A) Lipidsynthesis  (B) DNA replication  (C) Energy production (D) Protein synthesis
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(A) SRR (B)  SEEEes (C) o TR (D) ¥ FrE
The discovery of penicillin, which revolutionized medicine, is attributed to :
(A) Alexander Fleming  (B) Jonas Salk (C) Louis Pasteur (D) Robert Koch

e oA & i v att & sl fore s & st geen R frara van st 2, frees fer st ¢ --Select--
L A e |
Ay T ®) T (©) "t (D) e &1

is money that is camed through legitimate means and is accounted for, for which income tax or
other tax is paid
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(A) Old currency (B) New currency (C) White money (D) Black money
T T e (SR 8 - e o7 e & Fo e favedt ft Ay P & o 29 C ~-Select--

(A) TErETE (B) TORRET (C) wpiwgerEv= (D) uutEE

Which term in the Preamble of the Indian Constitution signifies that India is free from any external

control ?

(A} Socialist (B) Republic (C) Sovercign (D) Secular

siree 8 Frerferfiaa 3 & - war snuraed st fien g 3 ofre fram 20 b ~Select- |
(A) TFHAF LB (B) HFETE F TSR

(C) Bl AT T (D) W1 TEH

Which among the following plateaus in India lic between the Aravali and the Vindhya region ?

(A) Deccan Plateau (B) Marwar Plateau

(C) Chota Nagpur Plateau (D) Malwa Plateau

oty ¥ s % w9 R S S 29 b ~Select- |
(A) ¥ (B) OTEUFTRE (€) Frerm (D) fFre
‘Who is known as the *Father of Geometry” ?

(A) Aristotle (B) Pythagoras (C) Kepler (D) Euclid
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(A) FaYH 1 5T (B) %2 Huifad FT

(C) ST WAl ST F1 5ETF FT (D) R It

‘What is the primary benefit of using analytics tools in social media communication ?

(A) Measuring performance (B) Editing content

(C) Blocking unwanted users (D) Scheduling posts

et H, P e 3 et offe e nfafafi & Froes 3 fog v wa 6 2 B ~-Select--

(A) MISA (B) UAPA (C) Posco wfafmm (D) DIR sfufam

In India, which Act provided the framework to deal with unlawful and terrorist activities ?

(A) MISA (B) UAPA (C) POSCO Act (D) DIR Act

T — & 1T Rt G o e 2 B | bSelet- |

(A) s mafafie #i fafefe Fr

(B) T W ST T FEE F1 Hee FAT

(C) e =it wgran &

(D) AR SATENAT 1 FH FAT

What is the importance of India — Russia Annual Summit ?

(A) Regulating cultural activities

(B) Strengthening strategic partnership and defence cooperation
(C) Promoting tourism

(D) Reducing trade barriers
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(A) T H AT

(B) FFaifaa 2 i selia FET

(C) YO TR F2HT

(D) 311 BTl § ST shee 1 9o, ST 3 A

‘What does the term “content curation™ refer to in social media 7

(A) Creating original content

(B) Blocking unwanted content

(C) Deleting old posts

(D) Selecting, organizing and sharing relevant content from other sources
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wwi e s ERE| D --Select--
SAC code consists of __ digits.

(A) 5 (B) 10 ©) 4 (D) 6

T ¥ it T 3w 3 T ST s =2 A ~-Select--
(A) WER Fea v (B) W fifg

(C) SaTeTEre JaE (D) JHTY Iz

‘Who was known as the ‘Iron Man of India” ?

(A) Sardar Vallabhbhai Patel (B) Bhagat Singh

(C) Jawaharlal Nehru (D) Subhash Chandra Bose
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1997 § stward ¢ o st wifer o St vamaies 2 & Seren, Werm SR T S aHw Fed

(©) mﬁmwﬂwuﬁwaﬁr(‘&haﬁﬁ)

(D) R ST e (o)

Which intermational treaty, adaplad in 1997, aims to eliminate the production, stockpiling and use of
chemical weapons ?

(A) Biological Weapons Convention (BWC)

(B) Chemical Weapons Convention (CWC)

(C) Comprehensive Nuclear-Test-Ban Txtaly (CTBT)

(D) Nuclear Non-Proliferation Treaty (NPT;

sl 3 Frferer oo & o and i e o o off 2
In which year did India gain independence from British rule ?
(A) 1999 (B) 1964 (€) 1945 (D) 1947
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